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ShE 33 4
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MAX 100
MIN 30

Z#mE 19.3

1,000 midim

- *— /1 SR | [ BER | B | R
1 kgbf 100 6475 1 100
1 Ty = 100 5600 8 100
1 ZFA4SO0 100 5165 Q 100
1 < v F 100 4525 13
1 U5 100 4210 22 100
6 = 90 6205 3 100
6 T\ A 90 6165 4 100
6 KNMS 90 5895 6 100
6 TPP 90 5755 7/ 100
6 V I NA | 90 4365 19 60
11 777 x4 80 6105 5 100
11 AN 80 47725 11 100
1 BA 80 4720 12 100
11 KOSSY 80 4525 13 60
11 BRE D Y 3 80 4420 17 60
11 T iest 80 2675 34
17 | Toru 70 4510 15
17 LT C— 70 4205 23 100
17 = 70 4150 24 100
17 |\ T7T=V7 /0 3885 2'] 100
17 |X7=I1FE 70 3700 28
17 I Xing 70 34775 30 100
17 =\ = 70 3290 32 100
24 L5772 = 60 4315 21 100
24 | 60 4020 25 100




=27 =1 52 R | IBfiz | 358
26 | x4 50 6365 P 100
26 |L&shcC 50 4500 16 100
26 |7 — 50 4335 20 100
26 l ngw 50 3915 26 70
26 [ F b v A 50 3375 31 100
o 50 2150 36
32 [l T< 40 3595 29 100
33 [zw 30 2175 35

i 112131475761 7]87] 9110
1Efi# 4151512165521 3]5]3
AR R 76%| 52%| 3% 67%| 73%)| 73%| 76%| 85%| 85%| 73%
i 1 212 2 3] 5 2 13
iz 2 41215122 2] 3|25] 4 2
i) 1 1154121128 2|24
iz 4 25111314311 1] 1] 1]3
i 5 111724 24| 24| 1 28| 1
AL S 10 10 10 10 10 10 10 10| 10] 10
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